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KON, A4, WEOS TRSLSAXEZRD L, REERKROMEEH W L, A1 = 271 TVI=ghAty
H=1.0 He=4.0 C=12 N=14 O=16 Na =23 Mg=24 Al =27 @ Felt = 56 B () A4y
S=32 C1=355 K=39 Ca=40 Fe =56 Cu=63.5 Ag=108 NH,” = 14+1x4 = 18 R EVIVE S
D He = 4.0 NI OH™ = 16+1 = 17 KEEhA 4y
@ H, = 1.0x2 = 2.0 k& @ NO, = 14+16x3 = 62 HiA At
® N, = 14x2 = 28 E% @ HCO, = 1+12+16x3 = 61 REKEAAY
@ 0, = 16x2 = 32 ik SO,% = 32+16x4 = 96 1 200
® Cl, = 35.5%2 = 71 5% @ CO,>” = 12+16X3 = 60 REATY
® CO = 12+16 = 28 ~RltiE Fe = 56 i
@D HC1 = 1+35.5 = 36.5 ElkE Cu = 63.5 #
O = 16x3 = 48 )y NaCl = 23435.5 = 58.5 A RANIL)
© H,0 = 1x2+16 = 18 X ® CuO = 63.5+16 = 79.5 RS (D)
CO, = 12+16x2 = 44 R ® FeS = 56432 = 88 Bl (1)
O NH, = 14+1x3 = 17 el ® AgCl = 108+35.5 — 143.5 ks
© H,S = 1x2+32 = 34 MM 6 NaOH = 23+16+1 = 40 KBEF YA
@ SO, = 32+16x2 = 64 “RERRE . ,
NO, = 1441642 — 46 -BlgE ® NaClO = 23+35.5+16 = 74.5 fkmww
® CH, = 124104 = 16 ihy CaCl, = 40+35.5x2 = 111 tﬁftﬁ;vf?A
C,Hg = 12X2+1%6 = 30 hy €@ MgCl, = 24+35.5Xx2 = 95 fifte 7" 2y h
@ C,Hy = 12X3+1x8 = 44 VAR TN Al,O0; = 27X2+16X3 = 102 BT V=0 h
C,H, = 12x2+1x4 = 28 1FLy Fe,Op = 56X2+16X3 = 160 Bt ()
C,H, = 12x2+1%x2 = 26 TEfvy NaNO,; = 23+14+16x3 = 85 BRI A
@ CgqHg = 12X6+1X6 = 78 VA A KNO,; = 39+14+16x3 = 101 BED) DA
@ HNO, = 1+14+16%x3 = 63 W AgNO, = 108+14+16x3 = 170 HRS
@ H,SO, = 1x2+32+16%x4 =98  f# CaCO,; = 40+12+16x3 = 100 REH VYT A
@ H,O0, = 1X2+16xX2 = 34 BRI AE @ NaHCO,; = 23+1+12+16%3 = 84 REAET M) VA
@ CH,;C1 = 12+1x3+35.5 = 50.5 Jun iy @ NH,C1 =14+1x4+35.5 = 53.5 El7vE=0A4
@® CH,O = 12+1x4+16 = 32 AR =W Na,CO, = 23x2+12+16x3 = 106 RET M)A
@ C,HzsO = 12X2+1%X6+16 = 46 )= @ Na,S,0; = 23x2+32x2+16%x3 = 158 FARRT M) v A
@ CH;COOH = 12+1%3+12+16+16+1 = 60 A Bt Ca(OH), = 40+(16+1)x2 = 74 KB VYT A
C,H;OC,Hy =12X2+1X5+16+12%X2+1X5 = 74  y zfyz-7ji Fe(OH); = 56+(16+1)x3 = 107 K b4 ()
@ (COOH), = (12+16+16+1)x2 = 90 VR @ Mg (NOjy), = 24+(14+16x3)x2 = 148 BE<) 2V A
CeH;,,0g = 12X6+1X12+16%6 = 180 77 va=2 (77 8 9H) @ Fe(NOj3); = 56+(14+16%3)x3 = 242 B ()
6 C,,H,,0,; = 12X12+1%22+16%x11 = 342 A=A (7 af) @ (NH,) ,SO, = (14+1x4)x2+32+16x4 = 132 BR7VE=0
@ CO(NH,), = 12+16+(14+1x2)x2 = 60 k& @ A1,(S0,),; = 27x2+(32+16X4)x3 = 342 BT V=) A
@ CgHzNO, = 12X6+1x5+14+16%x2 = 123 kAT vty @ CuSO,5H,O0 = 63.5+32+16x4+5x(1x2+16) = 249.5 WA (IR
@ Na' = 23 FMIgALAY @ Na,CO4:10H,O =23x2+12+16x3+10x(1x2+16) = 286 RET M) YA KTH
® Ag’ = 108 fAt CaCl(C10)-H,O = 40+35.5+(35.5+16)+1%2+16 = 145 SHLH
Cl = 35.5 gty @ A1K(SO,) 4 12H,O0 = 27+39+(32+16x4)x2+12x(1x2+16) = 474 3yn’ v
@ Mgt = 24 VAN G Y [Ag(NH,) ,]T = 108+(14+1x3)x2 = 142 VTR 1Y
Fe?" = 56 B0 A4Y ® [Cu(NH,) ,1?" = 63.5+(14+1x3)x4 = 131.5  7h37v3vi44Y
0*" = 16 Blthity K,[Fe(CN)g]l = 39x4+56+(12+14)%x6 = 368 ARy T 0 R(EDY 74



